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Addizione (orizzontale)

Nome:

Risolvi ogni problema.

D 12+11=

2) 15+9=

3 480+ 216=

4 24+2=

5 26+21=

6) 5+4=

N 3+1=

8) 742+ 139 =

9 4+2=

10) 14+3=

11) 16 + 3 =

12) 34+ 3=

13) 75+10=

14) 498 + 85 =

15) 6+4=

10.

11

12.

13.

14.

15.

Risposte
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Addizione (orizzontale) Nome: Soluzioni
Risolvi ogni problema. Risposte
1) —
12+ 11 23 . 23
2 15+9= 24 2 24
3. 696
3) 480+ 216= 696
4. 4
4) =
2+2 4 5, 47
5 26+21= 47 6. 9
7. 4
6) 5+4= 9
8. 881
7) —
3+1 4 9 6
8 742+139= 881 10, 17
11. 19
9 4+2= 6
12 37
10 =
) 14+3 17 = 85
1) 16+3= 19 1. 983
15. 10
12) 34+3= 37
13) 75+ 10= 85
14) 498+85= 583
15 6+4= 10
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Addizione (orizzontale)

Nome:

Risolvi ogni problema.

Risposte

{

4
4

881 696
9 6

17
24

-

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

12+11=

15+9=

480 + 216 =

2+2=

26+ 21 =

5+4=

3+1=

742+ 139 =

4+2=

14+ 3=

10.

. Semplificato
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